adj.p value = 5.1e-18

Untreated Day10: PAT vs WT
logFC = 1.77
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LDLR (ab1766)

adj.p value = 4.34e-05

Untreated Day10: PAT vs WT
logFC = 1.82
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TSP1 (ab1855)

0g un 1M

0z un 1M

0T un 1M

0€ 1eall 1M

02 1eall” 1M

0T 1eall 1M

0€ un uaied
0Z un juaned
0T un uaned
0€ Yeail judlred
0Z 1eall juaned

0T leall juaned

0g un 1M

0z un 1M

0T un 1M

0€ 1eall 1M

02 1eall” 1M

0T 1eall 1M

0€ un uaned
0Z un juaned
0T un uaned
0€ Yeail judlred
0¢ Jeall juaned

0T Jeail 1usied

adj.p value = 4.17e-02

Untreated Day10: PAT vs WT
logFC = -1.31
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IL15 (ab1510)

adj.p value = 1.53e-28

Untreated Day10: PAT vs WT
logFC = 1.74
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HSPB1 (ab2305)
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adj.p value = 2.29e-04

Untreated Day10: PAT vs WT
logFC = -1.78
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DLK1 (ab1801)

adj.p value = 6.24e-06

Untreated Day10: PAT vs WT
logFC = -1.57
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CALB1 (ab1911)

0g un 1M

0z un 1M

0T un 1M

0€ 1eall 1M

02 1eall” 1M

0T 1eall 1M

0€ un uaied
0Z un juaned
0T un uaned
0€ Yeail judlred
0Z Jeall juaned

0T leall juaned

0g un 1M

0z un 1M

0T un 1M

0€ 1eall 1M

02 1eall 1M

0T 1eall 1M

0€ un uaned
0Z un juaned
0T un uaned
0€ Yeail judlred
0Z Jeall juaned

0T Jeail 1usied



